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1.

2.

3.

4,

5.

6.

TP BT AAHA IcUesl TehAT ST &—

(A) TSRS ST
(B) Jrerace
(C) =gl
(D) J=torST
Answer: C

HedlgT HIAFHA FT 38T UT?
(A) et I g AT
(B) HCUHETHR F JoaAd FIAT
() JreTafaa Sfadt & Shae ¥ & FUR F@
(D) T F GG HWF T A AcE FLAT
Answer: d

TepaT 3reE I B-

(A) aferdt
(B) =&
(C) =Tt
(D) 3t
Answer: c

3T AATST D ARINUPh hiel & —
(A)  2ToTRIE Higsr =T
(B) waoSilo <rers
(C) =ardfieTeie ATt
(D) =aret frdeereie
Answer: C

IAU H FAdS [FA HET SIar en-
(A) wir
(B) wratet
(C) seeht
(D) gept
Answer: D

g 8 H, i e 3’f™h I Emmy Awards Siidel arel 312ad SIiFd s g7
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(A) TeldHwisY ol
(B) TUTT UISHCISH

(C) IFIRE ALY
(D) drex Al

Answer: b
7. I AT 7 A &R T TSy I TR forg e |y agan R g
(A) T S
(B) T TR BITH
(C) SeegaTE
(D) T

Answer: C
8. W sratde srqere o< fRvear e &1 LAt whgl o e
(A) ST LT

(B) snfewm
(C) &
(D) gR=TomT

Answer: C
9. 20 ITET HT GgraaT feaw Faht sy o< s sav g2

(A) AGTEHT el

(B) FHT TS
(C) Trsfter wriefy
(D) ste=r fagrdt et

Answer: C

10. 6.0-7.6 & &= pH ATl ¥ sl ITTEATT | HA-HT Hoaga9fier T2 (dye) Tt BT SITAT 82

(A) TSR et 3% (Alizarin yellow R)
(B) THaTEe &S (Methyl orange)

(C) STHTATEHIA 5T (Bromothymol blue)
(D) aTEETeRATT (Thymolphthalein)

Answer: C

11, A " &1 FEfetead § § :19-97 Agous g AT Tee0 & TTHT § gated 82

(A) STT==F 239
(B) STI==T 245
(C) SIT== 260
(D) IT=IR 255

Answer: a
12. 1309 ®, FTRdT 19TsT (Kakatiya kingdom) 9% forerr smermror fham?

(A) Her® FTET (Malik Kafur)
(B) H=X 9T=T (Sunder Pandya)
(C) =T a7 (Ballala Deva)



(D) T 9i=T (Vir Pandya)

Answer: a

13. A=l § § #19-51 gae, offq &g % 209 9°d it Staqary & S5 w5t 82

(A) STL-IF ATHEA Ta7
(B) STIIA AT Ta+
(C) =feror-ufem wrgs 1o

(D) ufsredt wa=
Answer: b
14, Fao Aigarsh § g arcit Aeferfera & & forar seasa fRwerifar srewas= 8™ (congenital ovarian hypoplasia syndrome) 3 &9
H of} ST ST 82

(A) =9Z f&E® (Tumer syndrome)

(B) W—mﬁ f&S (Ehlers-Danlos syndrome)
() T ¥ (Usher syndrome)

(D) FATEAHee I (Klinefelter syndrome)

Answer: a

15.  9T3d TR A9 TSN T =T T FHATI0T S8 et 82

(A) TTer a1 BT

(B) EIYA SI¥ SIS HAT | I AHT
(C) wfereT Tar ¥

(D) TALTF FAEQSN UL X H Jlg HLHh

Answer: b

16. fufaRad & I foog ama A Feid & fIeR & HRd & Iy | Aifeie PR & U 7 R fhar

(A) (< HTH YSRATH! (JdTgd) §H HRd 9
8) forat firey fafies s9mw wRa dg

(C) TSI S99 GuITd g

(D) THSR SHE §-1H HRd I9

Answer: A

17. & o Fohe F8TST gaTeh |9 gear | fger qwidars s arfersr frer & foro @2 @8t

(A) ST =% =g raTeaT
(B) THEATYT &M

(C) Tav=w fA=mame
(D) F==E AT

Answer: C

18. fAwfofaa # & #9471, areia Fgearr §9ia &7 92ET 961 o7

(A) AT =FLAT (Agra Gharana)

(B) TRTTEIT =X (Kirana Gharana)

(C) TSI =T (Thanjavur Gharana)
(D) AT =TT (Gwalior Gharana)



Answer: C

19. o srfefe worTedt & Icarad &t orf<pat areet 9 forer arestiae st gar 82

(A) fafera srefereea
(B) HHTATE

(C) TEHwTATE

(D) USfraTE

Answer: B

20. IURRENT HeTEgR ol A, SATTHIAS & § HgcaquT Siel-HT U5 UTAT STl 572

(A) =<Iq (Oak)

(B) eI (Ebony)
(C) === (Pine)
(D) H\TTETA (Teak)

Answer: B

21, T AT ATIE Gaell AT FIL (GATT) F STLTEHILT 1T hl SATTAT---- H i 75 T

(A) 1948
(B) 1981
(C) 1995
(D) 1991

Answer: C

22. 30 fadaw 2024 TF it Fafq F @, TAATE A9 5% (ADB) F T o= 63T 27

(A) 31
(B) 69
(C) 19
(D) 49

Answer: B

23. ¥ Fal At "t atdi g AT auiad fit g@d oY 9% Fl--- FZT ST 82

(A) AT 9% (emergent layer)

(B) & T (forest floor)

(c) A= a=-faama 9% (understory layer)
(D) fEATHTEOT 9 (canopy layer)

Answer: D

24,  FTET SAE AT AT AfoEe T 2024 H AT FAE ST AT AT qIT SAAUEIT AT T T TAT?

(A) FFeareT faferreT (Christopher Williams)
(B) ¥t fa=wIT (Barry Wilmore)

(C) = &&= (Frank Rubio)

(D) @fa ZT2 (Bob Hines)



Answer: B

25.  PIReT Siafay & Jed # Fufafad 7 § SH-91 $UH, UIeTH (pseudopodia) BT TaTTH JUH BT 87

(A) T 3R 4T P AT IUTT ) S aTelt BIRB137 B Jag W RIRH A=
(B) IR & T ol BT I B aral AP HIRIGHT

(C) PIRABT DI TS YR U B aTell ¢ JTATT

(D) TTH 3R TIYUT & forT IUUNT Pt S aTelt HIRABT f3reeh & St yae

Answer: D

3
26. 4M3IT TE TGN F FU dd 9 50 m 33 RUd@ T AR & RRER &7 S~a9 HIoT
AOT 1| AR HR 54 M A 2, O TgR b ST T F AR BT I=IT BV FT 8112
o
(A) 30
o
(B) 75
o
(C) 45
o

(D) 60

Answer: A

s _ (] a] - (] - (]
2 ﬁsm 2x = c0s60°c0s30° + sinb0° sin30 .o -

Tan x + secx 0 <x<90°

BT AT A & AhaT g | (ST

(A)

(B)

(€)

l"*’|f$| & |5 B

,\I.'

93]

(D) 2
Answer: A

28. 4 3k 7 ¥ AT 3 3iH arel G T FEAT AT H

(A) 960
(B) 970
(C) 990
(D) 980

29. aﬁgna?f\%vae;s.ZSOH%DﬂﬁaTWW%‘lWéﬂ—éﬁﬁgqmmgﬁzmnﬁ(Rs.ﬁ)maﬁ,uﬁa@’mmﬁaﬁ%%a%wwsﬁ?
T a%g B 25% 1 B R = 2?

(A) =¥, 66.67

(B) =™, 66.67

(C) =, 33.33

(D) =iy, 33.33



Answer: D

30. GHAlT A U 9@ HiFT AT W 10% A ¢ W Tl I 38 58 15% A g T @eT giar, dF 37 T400 Hr

T9d gl T FT AP Hed Aa AT |
(A) ¥ 800
(B) 27,500
(C) ¥8,000
(D) 8,400

Answer: C

31. U& BE & 3HF 45 & TUT W ot ¥ 65 &of X QU AT| $HSF FHROT Fal & Aaa 31F & 1/3 i g & 731
FaT A oET i TEAT B

(A) 60

(B) 30

(C) 40
(D) 20

Answer: a

32. HYURYT 4T 9T H1E TR 6 98T & 59,200 3iX 10 a8t & 72,000 & St &1 I sAT=T A e 2% 3fAF <, ar

fhaar auf & Ig TR T 76,000 B AT
(A) 8
(B) 10
(€ 9
(D) 7

Answer: C
33. tngtrAwa’?ﬁraﬁ12ﬁa‘cﬁmm%;qmBsﬁ18ﬁmﬁmm%,mﬁmc®aﬁ§?éﬁaﬂ
36 st # @l #X wwar §1 IR weft oW A v W G R I, A wwel S F Ol @ ser # feaem wwg
qRANm?

(A) 9 fAeE
(B) 10 fA«e
(C) 6 AsIE
(D) 7 e 30 VF=

Answer: a

34, @ gt &Y AfT FT AT 5 : 7 8] IR ggeh & 3 wE H 300 FrAlr A qft a7 w7, Y qud & A afy

(km/h #®) g
(A) 100
() 140
(C) 150
(D) 120

Answer: b

35. aﬁwmrgﬁapra?raimzo#.m. g, A 3T B d FT 2
(A) 100v3 @.#Y.2
(B) 2003 &.#Y.2
(C) 1103 H.HY.2



(D) 1253 ¥.#H.2

Answer: A

36. U 4F A fadw FE 10 cm AR BSAT 6 cm B AF F1 AT g e fraem @2

(A) 301.44 cm?
(B) 305.4 cm?
(C) 292.4 cm?
(D) 312.2 cm?

Answer: a
V52
Tag X% x*
37. uﬁx=1"‘ +2Fﬁ +
(A) 350
(B) 322

(C) 345
(D) 284

BT AF &

Answer: B

o o
38. ﬂiABc:#'r=|$|ur|3=72 3R For C = 44 § | 31 BC, g D a% F@ré St § | For B 3K For ACD &

gfasmers faig E 9X fAera € | lor BEC & &1T 471 ¢ 2

o
(A) 58

o
(B) 46

o
() 36

o
(D) 32

39. 9?:151;\;?;1?@2?%?OﬁlScmaﬁqﬁTwﬁ%ﬁgPﬁmﬂWﬁgﬁwﬁwﬁw PQ sk PR @i it 8 | =rdst PQOR
BT &G S DN |

(A) 106 cm?

(B) 108 cm?

(C) 114 cm?

(D) 118 cm?
Answer: B
40. fref FHagyst @ aRAa 20 cm B | $96 Th %0l @ FFrs 6 cm 2| SR fawet @
oreTe fehar 27

(A) 10 cm



(B) 8cm
(C) 9cm

(D) 6cm

Answer: B

41. ﬁwﬁwﬁeaﬂwmaﬁl

3cotf + tanf —2/3 =0, 0 < 8 < 90°

8]

(A) 60
Q
() 30
[n]
() 15
(s}
(D) 45
Answer: A
42. weft RAwAt & Fa A F FIX FA 3F FwA yead Fe?
faug
fagrdfaram S fgdl Tiord
A 54 65 o7
B 52 38 78
C 43 48 67
D 41 87 60
E 74 70 55
(A) E
(B) C
(C) D
(D) A
Answer: B

43. farafaf@a ag-ar€ va Rereh smqfdwal garr e 7 7 RAffer AT & =t 718 7 e #r sF=at a0
wfafafeg Fwar &
e F1 RAffT AT F = 7€ faereh



16% » Y A
= 7T
25% Tz
HeD
13%
At & faw amgfd & e Psaws &1 Fa i §
o
(A) 25
0
(B) 48
8}
(C) 46
(&}
(D) 90
Answer: d
2 1 3 1
2 3
44. uﬁ(x -X%)=av6 3 x1 %,a’r(x - X7 ) &1 AW F4T N ?
(A) 22v/2
(B) 18Vv2
(C) 20V2
(D) 24v2
Answer: a

45. Rer 3R RAr 1 da@a@ FAA: 3:5 F HUA & ¥ I IAF & a7 # Rs.5,000 T Fefr F et §, A 24w

AU 5:7 & ST ¥ AT $1 adA aqar e g2
(A) Rs.7,500

(B) Rs.2,500
(C) Rs.10,000
(D) Rs.12,500

Answer: D
46. A, B3 co frdy af &y 3T # UF IIHT A FHA: T 40,000, X 48,000 3T T 80,000 FT A3y FAT &: AL

F 9E,IT F AV AT & AT AF & AT 2 4,000 FATT, BA & AL 2 4,000 AT, safd ¢ g AL T 4,000
fasre afE Fo amer 2 6,72,000 B, @ cF R (3 H) Braaw &2

(A) 1,96,750
(B) 1,80,480
(C) 2,80,320
(D) 2,11,200

Answer: C

47. U 40 N AT A 25% Hedgd AR 75% gt &1 IfE Asor & 10 fex gl Ao smar &, ar av @sor &
ehgd T yfaerd FaT gem?

(A) 20%
(B) 18%
(C) 25%
(D) 27%



Answer: a

48.  FeTell 390,000 FY A T AT W 30% HY & F F F AT Fclt ¢ IR Ffaawr 2y A et g 3T W 0%
# T ¥ FT F A FAl ¢1 IR 3T FIFT AT W FT A T & 37% & A B, A y T AT F41 82

(A) %2,16,000
(B) %2,13,000
(C) X2,04,000
(D) 2,10,000

Answer: D

49. & usd & & A gt 50km/h T AT F 7 G H aF T A §1 A (km/h H) Frat goEt wiRe @ifr 2 @ @7

IET FAT 99 SA0?
(A) 70
() 20
(C) 30
(D) 40

Answer: b

50. 9 & 7€ arfar F7 rewwe Aifaw ik A T v weat & 3R v |
aer gfreuit Fr gEan giteted &7 [@fteer & @w AT fr g
qog 14000 12% 20%

Lo

e 12000 8% 12.5%
sTer 10000 12% 16%

e 10000 11% 15%

3R a5 aifed F FqER R & F ged s oivfa 5w 8
(A) e
(B) ¥
() geelt

(D) IJuH

o

Answer: D
51. Select the option that expresses the given sentence in active voice.
The team is being led by an able caption.
(A) An able caption was leading the team.
(B) An able captain let the team.
(C) An able captain is leading the team.
(D) An able captain will lead the team.

Answer: C
52. Select the most appropriate synonym of the underlined word in the given sentence.
The doctors say that majority of the people who attended the fest are ill due to eating of adulterated food.

(A) damp

(B) spicy

(C) contaminated
(D) lascivious



Answer: C
53. Select the word which means the same as the group of words given.

a family of young animals

22

nest
clutch

&

offspring
D) broad

—_ = = =
(@)
-—

Answer: D
54. Select the correctly spelt word.

(A) suddenly
(B) suddenlly
(C) sudenlly
(D) sudenly

Answer: A
55. Select the most appropriate meaning of the given idiom.

Ignorance is bliss
(A) To gain attention and be the topic of conversation
(B) To have rage underneath a calm expression
(C) To want something that has been denied

(D) To remain ignorant of things that may cause stress

Answer: D
56. Select the most appropriate ANTONYM of the given word.

Luminous

(A) Hunched
(B) simple

(C) Dim

(D) Homespun

Answer: C
57. Identify the segment in the sentence which contains the grammatical error. If there is no error, select ‘No error’

Those who are late they will not be allowed inside the classroom.

(A) No error

(B) Those who are late

(C) inside the classroom

(D) they will not be allowed

Answer: D
58. Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to form a meaningful and
coherent paragraph.
A. Ram introduced Shyam to everyone and then served snacks to them.



B. After he cut the cake, all of them danced for a long time.
C. When Shyam reached his house, his classmates had already arrived.
D. Ram invited his friend Shyam on his birthday.

(A) ABCD

(B) DBAC

(C) DCAB

(D) ACDB

Answer: C
59. Select the most appropriate synonyms of the given word.

Ban
(A) Abandon
(B) Ascertain
(C) Bond

(D) Prohibit

Answer: D
60. Given below are four jumbled sentences. Out of the given options, pick the one that gives their correct order.

A. When John was five years old, a circus came to the village.
B. John saw the circus people and slipped out of the house.
C. After a long search, his father found him among the trained goats and dogs.
D. It put up its tents in front of the Town hall.
(A) BACD
(B) ABDC
(C) ADBC

(D) BDAC

Answer: C
61. Select the option that can be used as a one-word substitute for the given group of words.

Based on chance rather than on reason of a plan
(A) Extraordinary
(B) Ordinary
(C) Unique

(D) Arbitrary

Answer: D
62. Select the INCORRECTLY spelt word.
(A) Subsiquent
(B) Parmanent
(C) Dominant



(D) Temporary

Answer: A
63. Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically correct.
The snowstorm will effect thousand of travellers.
(A) No improvement
(B) affect thousands
(C) effect thousands
(D) affected thousand

Answer: b
64. Choose the correctly spelt word.

(A) CAMOFLAGUE
(B) PSEUDONYM
(C) TABBOO

(D) TEMPORERY

Answer: B
65. Identify the segment in the sentence which contains the grammatical error from the given options.
Prasad recalled that meeting people have been a part of his life as a student activist.

(A) meeting people have been
(B) Prasad recalled that

(C) a part of his life

(D) as a student activist.

Answer: A
66. Select the most appropriate ANTONYM of the given word.
Falter

(A) Suspect
(B) Trfer
(C) Haunt
(D) Stabilise

Answer: d
67. Select the most appropriate option that can substitute the underlined segment in the given sentence.
I have not seen you for last year.

(A) you for last years
(B) me for last year

(C) you since last year
(D) you about last year

Answer: C
68. Select the most appropriate meaning of the given idiom. Eat humble pie

(A) To live a life of humility
(B) To live in penury

(C) To enjoy life to the fullest
(D) To apologise humbly

Answer: D
69. In the given sentence the underlined word may have been incorrectly spelt. Identify the option that rectifies the spelling. If
there is no error in spelling, select ‘No error’.
During my time-taking and gradual convaelescenc after my back injury, my family was by my side.



(A) convalecense
(B) convalesaence
(C) convalescence
(D) No error

Answer: C
70. Select the option that expresses the given sentence in indirect speech.

His father asked, “What time do you have class tomorrow, Tom?”
(A) Tom’s father asked him what time he had class the next day.
(B) Tom’s father asked what time he has class tomorrow.
(C) Tom’s father asked him what time he was having class tomorrow.

(D) Tom’s father asked him what tomorrow class timing are.

Answer: A
71. The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error
from the given options. If you don’t find any error, mark ‘No error’ as your answer.

Did you baked / the chocolate cake / yourself this time?

(A) Yourself this time
(B) No error

(C) Did you baked

(D) the chocolate cake

Answer: C
Dance as an artistic form of (1) ---- is extremely old. Evidence of dance as a (2) ----- form is available in ancient literary
texts, painting and sculpture. (3)---- of the dance forms trace their roots to the (4) ----- of movement codified in the

Natya shastra (5)----- by Bharat men
72. Select the most appropriate option for blank 1.

(A) Suggestion
(B) succession
(C) expression
(D) impression

Answer: C
73. Select the most appropriate option for blank 2.

(A) Creative
(B) created
(C) creating
(D) creation

Answer: a

74. Select the most appropriate option for blank 3.

(A) More
(B) any



(C) many
(D) much

Answer: C
75. Select the most appropriate option for blank 5.

(A) Disbursed
(B) compiled
(C) captured
(D) dispersed

Answer: b
76. PeR Qufd—uf | P& wgx R ufesy &1 faar 21 Q, T &1 w1€ 21 P &1 R & ufey | & ey 272

(A) =g
(B) = g
(C) =m

(D) =

Answer: C
77. @R 7= Ry v E R 9 9 5 R 9E € iR Te B ' | I BT 9 o |

(A) wrETg
(B) S<ATBIA

(C) argd
(D) #Heifem

Answer: D
78. TE W W UE FHrIEid w9 39 USR @ TR 2 5 9.00 p.m. 997 3HH €T H gE SR o3 @) 3R 2R ) @ 2| i 39 ' 9 Refa
A a0 & g, a1 2.00 a.m. I91 3@ e @ g3 5 fazm @1 &R 3R evn?

(A) gd

(B) uf¥=m
(C) =faor
(D) SR

Answer: A
79. "DISASTER"s)= & 31873t & DA haar o2 & Raar & aofstrem & a1 &F 89 & 2

(A) P T
(B) 1

(€) 2

(D) 3

() 3% fd=

Answer: D
80. farfaf@d # @ wEamntt 3k ReEat A Fa-H scar-agea R v FHFwor F T FE?
512 x 64 + 5 + 30 - 50 = 20

(A) 20 31T 50, x 31X +

(8) 5 3 20+ 3 -

(C) 50 3 64, + 3T x

(D) 20 3i¥ 30, + 3 =



Answer: a

81. 3W fased &1 99 F A 39 3R A AFENT Fa1 &, Beg A e a0 Rera Ty=r & a0 § v w76 T @

W@ S 9T AHER AT qOT g Seadt
DY_GMI__YTG_ILDYT_MILD_TGM_L

(A) TDLGMYI

(B) TLDGMIY

(C) TLDMGYI

(D) TLDYMIG

Answer: C
82. IR &F 3W WA F 9 F R AT &§ 71§ H@ar F Rad wyEl # FAF ¥ F W q@ W @ H@ar
got &)
J_mb_a__u_b_adj_m_b_d

(A) ubdjmbijba

(B) ubmjmbuba

(C) ubdjmbuma

(D) ubdjmbuba

Answer: D
83. Ru 7w fawedl # ¥ 37 1AW WAF F 949 W N e H@ar # wARET () F TG W 3T FFAT 8

LGG, PJL, KMO, OPT, LSG, ?
(A) PVL
(B) OVK
(C) PUK
(D) NUL

Answer: A
84. MU v Yot FT CAIAS HEAAA F AN TF FEAT T o WA NRATIew (?) F TR 9 30
60 152 161

14 18 17
15 19 ?

(A) 23
() 19
(C) 13
(D) 7

Answer: A

85. & 7§ Pl




(A) 11
(B) 12
() 9
(D) 13

Answer: B
86. fu wu fashedl ¥ ¥ IF STHA H =TI Ho, S T e (?) & W W oo gt € ofiX Yo Pef FHX Gl © | (SRl B OgAW
AN TE D)

(A)

(B)

5 bR B

N/
/\

87. YT H AFARAR 'AB'W @ W, RT 7w A & saat ard at gdor gfafde 1 o

A




(A)

A =

- @@3 @@ G @@3

(B)

(€)

(D)

Answer:
88. <, w™ 9 g1 &, W, I | BIST & | N, IM W F9T olfcb] ¥ A BIST &, A [ BT B 57

(A) ™

(B) g

(C) et

(D) wom

(E) 39 9 PIg =T

Answer: d
89. afx foelt e wrwr § TERMS @1 375 forar imar 2, ar S v # ORGANS @1 fos
YHR ferar Sre?
(A) 444
(B) 244
(C) 344
(D) 544

Answer: A

90. MY U & U T oIt 3ferer-3rceT RATAAT GAS TS ¥l HEAT '3 F G2 aTel Bk & AT Beld G dleA-A

Figure 1 Figure 2 Figure 3



(A) .5
(B) 1
(C) 4
(D) 6

Answer: B
91. A RFeTF A AT N R v i F 3T T FA P AERT Rar g A FA A T
33T g # 3T E
1- Miscellaneous 2- Miscalculate 3- Mischance 4- Miscall 5- Miscasting

(A) 2,4,1,5,3

(B) 2,4,5,1,3

(C) 4,2,5,1,3

(D) 4,2,5,3,1

Answer: B

92. Rw v & 3N #, IR ‘T T+ B g §, BT Rt F gr § AR wET wRAA; Foqutar §
fraa s afvs @@ § o Rar 7@ &2

(A) 61
(B) 12
() 25
(D) 36
Answer: D

93. AR ‘A+B @ ‘A BB TR, ‘A-B dmaef ‘A, BRI ueii 27, ‘AxB @raefg ‘A, Baigaz, PxQ-Sa ar # fa=farRaa
¥ 9 @9 ar e wei 872

(A) Q, P faar @

(B) P, Qa1 g3t &
(C) S, Q# ueh &

(D) S, P a1 firer 2

Answer: D
94. & I QY WEATHT (3T Y Agl) H YA H dgad W ArAfA@T H T Fia-ar FHHI0r FE ghom?
4 3k 3

(A) 4+3x7-2=29

(B) 3x4+2+7=17

(C) 4x3+7-5=16

(D) 7x4+3+1=30

Answer: A
95. . wF fARTd FT &1 #, 'NUMERICAL' FY 'ICALRNUME' for@T ST € 3 SCATTERED' #Y 'EREDTSCAT' for@m smar 81 3t



$T9T & 'EXPLOSION' ¥ for@T simwam?
(A) SIONOEXPL
(B) SIONOXELP
(C) SIONOEXLP
(D) SIONOXEPL

Answer: A

96. fdr AR FT T #, 'so it be' @Y 'lor kor nor' & ®F H @ JATCT §, 'it is done' H 'zor kor tor' F TT F for@T FraT

2, 3R 'be yourself' ST 'nor xor' for@T STAT &1 3 ST H 'so' ®Y FO @ FATTIM?
(A) xor
(B) nor
(C) lor
(D) kor

Answer: C
97. UH HHA faam A B, FHwH ¥ vF ug ed §1 R Aw Fwedt & § a7 9@ Rwew gaw, It sgwa B @A
TQT, ZSB, FUJ, LWR, ?

(A) RNZ

(B) RYA

(C) Rz

(D) RMZ

Answer: C
98. wEwt ¥ RwH Wy F1 9= |
(A) (1000-500-250)
(B) (600300-150)
(C) (400-200-50)
(D) (200-100-50)

Answer: C
99. 39 WTdd & TS Y forEe & IS HEAC HOH H 3 IHR Fefa ¢, o weR wee 7 Rw aw wopeaw H
Q). o e &
(&1 & HEATHT 1 37 ueah 3Hepl A ars e, qub deansit o st |fshart i Sl =nfgel 3emeor & faw 13 &
of 13 W H S drell faffest IO Sfshard S Siser / gerer / 90 e 30 hael 13 W AN S Fehell &1 13 & 1
3R 3 & disa 3R Y 1 3R 3 WX AIOIC dfhard e &1 3gAfd € )
(47,108, 169)
(22, 83, 144)

(A) (11,73, 133)

(B) (33,121, 181)

(C) (51,112, 173)

(D) (8, 64, 130)

Answer: C
100. fw v fwedl & ¥ 3w Irpfa F1 T¥T F o AFa smHia-g@er &
TRARIET (?) & T 9T 3T Hhdl &2




(A)

(B)

(€)

(D)

Answer:



